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19 A shop sells milk in 1 pint bottles and in 2 pint bottles.

Each 1 pint bottle of milk costs 52p.
Each 2 pint bottle of milk costs 93p.

Martin has no milk.

3
He assumes that he uses, on average, 2 of a pint of milk each day.

Martin wants to buy enough milk to last for 7 days.

(a) Work out the smallest amount of money Martin needs to spend on milk.
You must show all your working.

2 T2 = T 752k
Neets Lok 43
‘ 2 £2.79

2y 9

DONOT WRITE INTHISAREA

Martin actually uses more than % of a pint of milk each day.

(b) Explain how this might affect the amount of money he needs to spend on milk.

(Total for Question 19 is 4 marks)
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20 The diagram shows a right-angled triangle.

Tx 5x +18

All the angles are in degrees.

Work out the size of the smallest angle of the triangle.

T +Sx+1T &40 = (8O

|22 4108 = [ RO
[2Z 5 = (BO —(o8

12 5« = 7272

S = 22 ~ =L

[ -

I =42
Cy +18 = S@)rE=64g 42

(Total for Question 20 is 3 marks)

21 A box exerts a force of 140 newtons on a table.

The pressure on the table is 35 newtons/m?. F
p=—

Calculate the area of the box that is in contact with the table. 4
p = pressure

F F = force
T — A = area
(° A
=

— ¢ _ &>
A’-F S — :—é‘/"‘\

(Total for Question 21 is 3 marks)
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22 There are only red counters, blue counters, green counters and yellow counters in a bag.

The table shows the probabilities of picking at random a red counter and picking at
random a yellow counter.

Colour red blue green | yellow

Probability | 024 | O-T%& | 6-22| (32

The probability of picking a blue counter is the same as the probability of picking a green

counter.
Complete the table. ] — 0.§L = 0-44
0 .
& 4 - O-22
>

(Total for Question 22 is 2 marks)

23 A pattern is made using identical rectangular tiles.
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24 The diagram shows a sand pit.
The sand pit is in the shape of a cuboid.

Sally wants to fill the sand pit with sand.
A bag of sand costs £2.50
There are 8 litres of sand in each bag.

Sally says,
“The sand will cost less than £70”

Show that Sally is wrong.

40cm

(Total for Question 24 is 5 marks)
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25 Four friends each throw a biased coin a number of times.
The table shows the number of heads and the number of tails each friend got.

Ben Helen Paul | Sharif
heads | 34 66 80 120 | Joo
tails 8 12 40 40 )& O
/
The coin is to be thrown one more time. 4’0 o

(a) Which of the four friends’ results will give the best estimate for the probability that
the coin will land heads?
Justify your answer.

g’\o...f: -é e.S LQ Ca..r((-ev( oQL S ] e-L(OWS

(1)
Paul says,
“With this coin you are twice as likely to get heads as to get tails.”
(b) Is Paul correct?
Justify your answer.
(2)

The coin is to be thrown twice.

(c) Use all the results in the table to work out an estimate for the probability that the coin
will land heads both times.

AH)= = PlHHY = 24
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26 (a) Write down the exact value of cos30°

k3
.............. R
(b) H
12cm
xXcm [
30°

Given that sin30° = 0.5, N o
work out the value of x. 5/ n 3 0 = x

(Total for Question 26 is 3 marks)

27 Expand and simplify (x +3)(x — 1)
YA
S S S - S i

= o2 4+ Zx -7

(Total for Question 27 is 2 marks)
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28 Factorise x> 16 = DCZ - 41 = (D: 4—4)(:& ——4—)

(Total for Question 28 is 1 mark)

29 Solve the simultaneous equations
axt+y=25 @
x—3y=16

@X3 |2 4-33:’75' @

@&@ (35 = 4l
x = At -9
173

—

x =
fabéx‘xﬁs@ 4—("‘)*"1525

28 49 £ 2%
fJ:z‘S'z?—f = -3J

(Total for Question 29 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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